Lesson 36 on 12.1,12.3 PDE 36,37,38 stue Wed:) Dec &

No WebEX next week £ (x)
A
F\ft SLIMML Ca [cu /u$ 4 /ﬂeam Va/h(,‘rlttarem 'p(ij’?(“) = —P((c) K}
b-a a < b

MVT => T4 /FlEﬁ then L Ts const.

Eas/est ?DC/_, 9‘4 =0 @() 22 (7 “(X'H"‘_j) — M(a;y)
- o W20 h
N

q’ Y

— > X

PDC "> M(X,;) 15 Cﬂhﬂlaynl' on hm"l% (mes

u('x//]) C(,}S — ConsT- anzrrwy
Converse/y) 4 u/9r7): (7) &— fen 9(7 attoue

Then ax = ax 2 4%) = O

Fact 7 Sol* of G) u(xﬁ C(;)
where C(; s an a%ﬁwy fﬁc 0-(’7

Pob ; Solve = & S Ix

—

U= g efféﬂo x dx = & ‘:{'6537() '+C(7)

7
A
e! =0
gt gt s Aes 6EI] =0
maust = Ccy)

EL(J Unex + y=0 é"’ILATMk a—f’ 7 as ‘fz?a,mue-!tr

M(";y) = /}(7) Cosn 4 g(?) Sux
Where 14(;) o 3(7) ave ark s p—[%,



First order [uemr ) TDE

400 %% + By = CCO)

éﬁ?—ﬂ—'; Divide )ay /[(;(); j_ .%‘(f 4-(3;;;)(4: O
AL 5 Plly= G —_
Standdard - Form ¢ Ity
A = €

§-A:E 2 F)M{ z’mﬁyva-/iy B
SP&x Jokee <—uo +C lere
M= &

Step 3 Malt, Stond-borws £g by |3 <ﬁ'7¢l{/}) (335_,_;,("57

d/y _ \ﬁ/\/\,,
wath=t | g
o%clﬂ?j 3
Sty s Tlegmic 1. &ty Cly

M,\;:ﬁ XMGM)( +C

quE,E 5 Solve Lor 7;
= L (@i + Cy

Vibrebing Shing Tob: L 0
- 7 / T~ —7 X
L
Q"f 2 29‘4
\A/MV'C E/?h : —32—2 = c Z)?
Boww(ary Condd  BC : {L{(O)‘t)’—‘o
u(Lt)= O

ulx, 0) = L)

Titel G TC 54307



_4/6_'&4}"017[;‘7” 0‘( l/ml('a.éki z U(X/{)ZZ;(X) )77&)
: 2
we  H(xT]-eniT

T =cX'T
4c‘mm-}-e. vars: Z// L tT!

= " — :)\/qtanﬂL,

X |

-P;j\o‘Fx fon o €

X prbe X'=nX=0 ]g—a Bl
gc — X(0)=0, X()=0

- — (//wazd-
whyz  u(Le)=XWTE = O
/Q.dpn”f wiart r)7('BJ£Q

yeed

= X
60+ - vals Ay = _<%§1/ e~ feus XVI(K):Q”%L,—

T pwbe =22 T =0
"+ feur \ =0
Get rﬁ({) 4 (st # @mémw'

Get Mh<7(’t) -‘—'j.n(’() '/}n ét)

o
éu e_rfz)ﬁ’/’/m’l Prm:,P/e_ . u(x/»t)’,-méz_? uh(x,—t)
QL near TVE

ng-l' +hin 7
| )

” cn‘r Ccuel
ans — ulxt) 2/5”"” <4 Cos™ L

C +2,, m L



L3 Ch 177 W
%%: (xt) 2(4,1" <— -1 gm l, +? 7 (osc’_,t)

n=/
Wﬂ-M?L

& - J
TC: ulxd)= Z AnSinT = Mx

n=/
_ X
ALM( T’-a Sine Sevies - ( /) -~ ‘F( ) Sy “,_di}

want

0J = ; J
%(“/O) éf %nC7 émnx 7(7()

n=| ’Q

F, Giug Sevies coett Lor 7@()

P/’ana ’pmé - [ 11,’[\3 — M=) = (e (mm[p
o L glx)= e bop

Nex + Fime . Use +r?; dent.
Sin « Cof= 3 (St Sinlef)
Sinn e % (Gs ) G (.,,7@)
Jshanns ol —> Jacobs ol




